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25. The graph of a quadratic function with vertex (2, —4) is shown in the figure below.
Find the domain and the range.

domain:

range:
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4 3 2
* The polynomial function f is defined by f(x) =2x +7x +4x —2x+3
Use a graphing calculator to find all the points (x, f’(x)) where there is a local maximum.

Round to the nearest hundredth.
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27. Find all X-intercepts and Y-intercepts of the graph of the function.
3 2
flx)=2x"+2x —18x—18
If there is more than one answer, separate them with commas.

x-intercept(s):

yintercept(s):

28. Choose the end behavior of the graph of each polynomial function.

@ flx)=x —3x"—2x"+2

{(a) Rises, (b) Falls} to the left and
{(a) rises, (b) falls} to the right.

() F(x) = 3x +6x +9x+4

{(a) Rises, (b) Falls} to the left and
{(a) rises, (b) falls} to the right.

(© F(x) = —x(x=3)(5x+2)

{(a) Rises, (b) Falls} to the left and
{(a) rises, (b) falls} to the right.
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(© F(x) = —x(x=3)(5x+2)

{(a) Rises, (b) Falls} to the left and
{(a) rises, (b) falls} to the right.

29. A ball is thrown vertically upward. After t seconds, its height h (in feet) is given by the function
2
h(t)=112¢t—16¢ Whatis the maximum height that the ball will reach?

Do not round your answer.
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30. A model rocket is launched with an initial upward velocity of 235 ft/s The rockets height h (in feet)
after t seconds is given by the following.

2
h=235t—16¢
Find all values of t for which the rocket's heightis 151 feet.

Round your answer(s) to the nearest hundredth.
(If there is more than one answer, use the "or" button.)
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30. A model rocket is launched with an initial upward velocity of 235 ft/s The rockets height h (in feet)
after t seconds is given by the following.

2
h=235t—16¢
Find all values of t for which the rocket's heightis 151 feet.

Round your answer(s) to the nearest hundredth.
(If there is more than one answer, use the "or" button.)
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